Homework # 22 (due Wbdﬂtfolﬂg, April 22)
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IS b{jecﬁon )

Let S, T be two sets and . S—=T

Recall that then 4 has an inverse funchon g: T- S,
, 3({‘) = S, Where S, is the

.

defined s follows vteT
Whigue solufion of +he eguaton £(5) =t.

Prove +hat giT - S IS a bijech‘or\.

Lt A\;Alx"')A": ... be countably sets. Prove that

2.
= . . )
UAn is countable. (Hint: For each set Aw, Since An IS
n=

counbable W Can  Arrang An as a [ist

An {am, Any ..., Qnm, |
Now describe o wou of Arranging coutably many Ji it
info & Single Dst, the proof is similar to +he proof that

By is wuntable ) Wrile & complete proof .




